Math 2153, Quiz #14, Fall 2012 Name KE:\'/

Instructions: Show all work. Use exact values unless specifically asked to round.

1. Evaluate the line integral . (x + 4,/y)ds on the line segment from (4,8) to (3,3).

- 3-§2¢

= H-O1 13- oetel 3-uan

re = - 1 -< 3\

-}
e (ol = (*xs™ = (26

\ . ' A \
SOC‘*M‘: ¢ 4(TSE) Bede = 4r -3+ 23

‘ W= 8-St |
Son Ay -E@* oo & @Yt

'__.___4-

3+ &(w-3%)|

2. Evaluate the line mtegralf By —x)dx + yi:i on the elliptic path x = 4 sin(t),y = 3cos(t)
from (0,3) to (4,0).
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3. Use the Fundamental Theorem of Line Integrals to evaluate fc —sin(x) dx + zdy + ydz on the
smooth curve from (0,0,0) to (g, 3,4).
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